

الف) $y^3 - \frac{x}{0} = 2x^2$ $y_1^3 - x = 2x^2$ $y_1^3 = y_2^3$ $y_1 = y_2 \Rightarrow$ تابع است
 $y_2^3 - x = 2x^2$ $y_1 = y_2$

ب) $|y| + x^2 = x + 3 \Rightarrow |y| = 3 - x^2$ $y = \pm \sqrt{3 - x^2}$ تابع نیست

ج) $\sqrt{x-4} + |y-2| = 0$ $\sqrt{x-4} = 0$ $|y-2| = 0$ $x=4$ $y=2$ تابع نیست

الف) $y = \frac{x+4}{x^2-4x} \rightarrow DF = \mathbb{R} - \{0, 4\}$ $x \neq 0, 4$

ب) $y = \frac{x+4}{x(x-4)}$ $DF = \mathbb{R}$

ج) $x^2 - 4x + 14 \rightarrow \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{4 \pm \sqrt{16 - 56}}{-2}$ $y = \frac{x+4}{x^2+x+4}$ $A = b^2 - 4ac$

الف) $y = \frac{x+4}{x^2-4x} \rightarrow DF = \mathbb{R} - \{0, 4\}$ $DF = \mathbb{R}$

ب) $y = \sqrt{4-x} + \sqrt{x-2}$ $x \leq 4$ $x \geq 2$ $DF = [2, 4]$

ج) $y = \frac{3x+1}{x^2+1} \rightarrow DF = \mathbb{R}$ $\frac{\sqrt{x-2}}{x-4}$ $DF = \mathbb{R} - \{4\}$

د) $y = \frac{2x+3}{|x|+x^2}$ $|x| + x^2 \neq 0$ $|x| + x^2 = 0$ $DF = \mathbb{R} - \{0\}$ $x \neq 0$

الف) $y = |x| + 2$

ب) $y = 2|x|$

ج) $y = |x+2|$

د) $y = |x+2| + 3$

الف) $f(x) + 1$

ب) $2f(x) =$

ج) $f(x-1) =$

$$y = (x-2)(x-3)(x-4) \quad \text{الف}$$

$$\begin{array}{ccccccc} & 2 & & 3 & & 4 & \\ & + & \phi & + & \phi & - & \phi & + \end{array}$$

$$y = (x-2)(x-3)^2(x-4) \quad \text{ب}$$

$$\begin{array}{ccccccc} & 2 & & 3 & & 4 & \\ & + & \phi & - & \phi & - & \phi & + \end{array}$$

$$y = (x-2)(x-4) \quad \text{الف}$$

$$\begin{array}{ccccccc} & 2 & & 3 & & 4 & \\ & - & \phi & + & \phi & - & \phi & + \end{array}$$

$$y = (x-2)(x-4) \quad \text{ب}$$

$$\begin{array}{ccccccc} & 2 & & 3 & & 4 & \\ & + & \phi & - & \phi & - & \phi & + \end{array}$$

$$y = x^3 - 3x + 2 \quad \text{الف}$$

$$\begin{array}{r} x^3 - 3x + 2 \\ \underline{-x^3 + x^2} \\ x^2 - 3x + 2 \end{array}$$

$$\begin{array}{r} x^2 - 3x + 2 \\ \underline{-x^2 + 3x} \\ 2 \end{array}$$

$$\begin{array}{r} x^2 - 3x + 2 \\ \underline{-x^2 + 3x} \\ 2 \end{array}$$

$$\begin{array}{r} x^2 - 3x + 2 \\ \underline{-x^2 + 3x} \\ 2 \end{array}$$

$$\begin{array}{r} x^2 - 3x + 2 \\ \underline{-x^2 + 3x} \\ 2 \end{array}$$

$$y = x^3 - x^2 = x^2(x-1) \quad \text{الف}$$

$$\begin{array}{ccccccc} & -1 & & 1 & & 0 & \\ & - & \phi & + & \phi & - & \phi & + \end{array}$$

$$A = b^2 - 4ac = 1 - 4 = -3 < 0 \quad \text{ریشه‌های حقیقی ندارد}$$

$$x = \frac{-b \pm \sqrt{\Delta}}{2a} = \frac{-1 \pm \sqrt{1-4}}{2} = \frac{-1 \pm \sqrt{-3}}{2}$$

$$y = x^2 + 3x + 2 \quad \text{ب}$$

$$\begin{array}{r} x^2 + 3x + 2 \\ \underline{-x^2 - 3x} \\ 2 \end{array}$$

$$\begin{array}{r} x^2 + 3x + 2 \\ \underline{-x^2 - 3x} \\ 2 \end{array}$$

$$\begin{array}{r} x^2 + 3x + 2 \\ \underline{-x^2 - 3x} \\ 2 \end{array}$$

$$\begin{array}{r} x^2 + 3x + 2 \\ \underline{-x^2 - 3x} \\ 2 \end{array}$$

$$y = x^3 - 1 = (x-1)(x^2 + x + 1) \quad \text{الف}$$

$$\begin{array}{ccccccc} & 1 & & 1 & & 0 & \\ & - & \phi & + & \phi & - & \phi & + \end{array}$$

$$\Delta = b^2 - 4ac = 1 - 4 = -3 < 0 \quad \text{ریشه‌های حقیقی ندارد}$$

$$x = \frac{-b \pm \sqrt{\Delta}}{2a} = \frac{-1 \pm \sqrt{1-4}}{2} = \frac{-1 \pm \sqrt{-3}}{2}$$

$$y = \sqrt{x^2 - 14} = (x-4)(x+4) \quad \text{ب}$$

$$\begin{array}{ccccccc} & -4 & & 4 & & 0 & \\ & + & \phi & - & \phi & + & \phi & + \end{array}$$